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Risolvi le seguenti equivalenze.

0,1421 hm² = ................... dm²

232,4 mm² = ................... dm²

375 mm² = ................... cm²

13,61 dam² = ................... hm²

0,0002017 km² = ................... m²

1225000 dm² = ................... hm²

0,04086 km² = ................... dam²

3,076 dam² = ................... m²

3,523 hm² = ................... m²

437,3 m² = ................... hm²

0,02315 hm² = ................... m²

4675 cm² = ................... dam²

1251 m² = ................... hm²

1034 mm² = ................... m²

30,4 dm² = ................... hm²

1,874 km² = ................... hm²

372,9 cm² = ................... dm²

4,754 km² = ................... dam²

11,06 hm² = ................... km²

4,631 dam² = ................... cm²



Pagina 2

4,237 km² = ................... hm²

470,4 m² = ................... km²

2847000 mm² = ................... m²

2,867 dam² = ................... cm²

1,528 cm² = ................... mm²

0,4931 km² = ................... dam²

3531 dm² = ................... dam²

0,003101 hm² = ................... dm²

2245000 cm² = ................... dam²

1,282 hm² = ................... dm²
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Soluzioni

0,1421 hm² = 142100 dm²

232,4 mm² = 0,02324 dm²

375 mm² = 3,75 cm²

13,61 dam² = 0,1361 hm²

0,0002017 km² = 201,7 m²

1225000 dm² = 1,225 hm²

0,04086 km² = 408,6 dam²

3,076 dam² = 307,6 m²

3,523 hm² = 35230 m²

437,3 m² = 0,04373 hm²

0,02315 hm² = 231,5 m²

4675 cm² = 0,004675 dam²

1251 m² = 0,1251 hm²

1034 mm² = 0,001034 m²

30,4 dm² = 0,0000304 hm²

1,874 km² = 187,4 hm²

372,9 cm² = 3,729 dm²

4,754 km² = 47540 dam²

11,06 hm² = 0,1106 km²

4,631 dam² = 4631000 cm²

4,237 km² = 423,7 hm²
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470,4 m² = 0,0004704 km²

2847000 mm² = 2,847 m²

2,867 dam² = 2867000 cm²

1,528 cm² = 152,8 mm²

0,4931 km² = 4931 dam²

3531 dm² = 0,3531 dam²

0,003101 hm² = 3101 dm²

2245000 cm² = 2,245 dam²

1,282 hm² = 1282000 dm²


